M Public Display Wall 145 Dual

® ¢)od il 50 1 huag
@ Gulvstativ

@ Bodenstander

® Emdamédia Baon
® Floor Stand

® Soporte de suelo

© Lattiateline

© Socle au sol

© Supporto da terra

® Gulvstativ

® Podstawa na podtoge
® HanonbHaa nogcraska

® Golvstativ
® Zemin Sehpasi

@ E L

www.multibrackets.com

2 PERSON
EEEEEEEEEEE

FORINSTALLING THIS PRODUCT.




e ] A 0 8 el ) S B f g S i

i A D b S e e el i

VIGTIGT!

Din plasmaskeerm, LCD-skeerm, tv, projeklor, projeklorskesrm eller andet HiFi-udstyr
repraasenterer en betydelig vaerdi.

Hivis der medfolger skruer, passer de muligvis ikke til materialet | vasggen, loftet eller
gulvel.

Udskift skruemne med passende skruer, hvis del er nodvendigt.

Huvis du er | tvivi om noget | forbindelse med montenngen af produktet, skal du kontakte
en ekspert.

ACHTUNG!

Ihr Plasma-, LCD-, TV-Gerét, Ihr Projektor, lhre Leinwand oder sonstige HIFi-Ausrlistung
stellt einen betrichtlichen Wert dar.

Die méglicherweise im Lieferumfang sind unter L nicht
filr das Material ihrer Wande, Decken oder Boden geeignet.

Ersetzen Sie sie bel Bedarf durch geeignete Schrauben.

Wenn Sie beziiglich der Montage des Produkts unsicher sind, wenden Sie sich an einen
Fachman

IHMANTIKO!

Ol mAcopaceg Plasma, LCD, o1 kavovikeg Tiheopaoeg, o oBoveg Tpofokiuw fj AAAeg

guokeuig HIFT éxouv pia afoonueiwm atia.

Av rr:plmu[suvovml Elbm; Iowe va pnv Eival KETAANALS YIT TO UMKE TOU TOIXOU, TOU

mﬂwnu 1} TOU TTOTWHGTOS T0ag.
ToTE TG Piieg pe

av eival

ETnv TERITTWOT Trou Sev EI0TE OiYOUpo! ya KATTOIES {TisaTa GXETIKG pE TV
TIPOCGRTON QUTOU ToU TPOIdVTOG, MEPaKaAOUPE OUPBOUREUTEITE Evav EIBIKO,

IMPORTANT!

Your Plasma, LCD, TV, Projector, Projector Screen or other HiFi equipment represents a
considerable value.

If screws are included they may not be suitable for the material of your wall, ceiling or
fioor.

Replace the screws with sultable ones if needed.

In case you are unsure regarding any aspects of the mounting of this product please
Consult a professional

IMPORTANTE

Los equipos de plasma o LCD, los y pantallas de ion,
asi coma olos equipos de sita fidelidad suponen una inversion considerable.

Si incluyen tornilios, puede que no sean adecusdos para el material del que estén
formados la pared, el techo o el suelo.

Sustituya eslos tornillos per otros mis adecuados si es preciso.

Si no estd seguro sobre cualquier aspecte del montaje de este producte, consulte a un
profesional.

TARKEAA!

Plasma- tai isi ien ja niiden i sakd
muiden hifi-laitteiden arvo on huumanavﬁ

Laitteen mukana toimilettaval ruuvil eivil valilAmatia sovellu seinien, katon tai lattian
materiaaliin.

Korvaa ne tarvittaessa sopivilla ruuveilla.

Mikali olet epévarma mistd tahansa témén tuotteen Kiinnittamiseen littyvasta seikasta,
ota yhteys asiantuntijaan.

IMPORTANT!

Vos écrans plasma, LCD, élévisions, projecteurs, écrans de projection ou autre maténel
Hi Fi ont une valeur considérable.

Les vis fournies peuvent ne pas étre compatibles a la nature de vos murs, plafonds et

sols.
Remplacez-les par des vis adaptées.

Si vous avez des doutes quant au montage de ce produit, veuillez consulter un profes-
sionnel

IMPORTANTE!

1 vosiri plasma, LCD, TV, prulelhurl schermi di proiezione o altri apparecchi Hi-Fi rap-
un notevole i

Le vili in dotazione potrebbero rivelarsi non adatte per il maleriale della parete, del sof-

fitte o del pavimento.

Sostituitele quindi con viti pid idonee in caso di necessita

Nel casa riscontriale problemi nel montaggio di questo prodotto, consultate un tecnico
specializzato.

VIKTIG!
Din plasma, LCO, TV, projektor, projektorskjerm eller annet Hifi-utstyr har betydelig
verdi

Hvis skruer falger med, er det ikke sikkert at de passer til matenalet | veggen, taket efler
guivet.
Bytt skruene | skruer som er egnet om nadvendig.

Hvis du er usikker nar det gjelder montering av dette produktet, ma du kontakte an
profesjonell.

UWAGA!

Monitor plazmowy, LCD, lelewizor, projekior, ekran projekeyjny lub inny sprzgt HiFi
stanowi znaczng wartoét.

Jedli dolaczono do niego Sruby mocufgce, moga one nie byt odpowlednie do materialy,
z klﬁmgo wykonane sg dane ciany, sufit lub

W razie potrzeby nalezy je zastapic¢ odpowiednimi :tmbaml.

W razie jaki lia tego nalezy

zasiggnac porady u specjalisty.

BHAMAHMWE!

Karum Gt oBopynosamuen HiFi sl Hy Byas T0 WK nnm
W i BkpaH, - BCE OHH NDECTARNAT

SHAYMTEMEHYIO UEHHDCTS.

He Bcerna T a8 ¥ MATEpHany BaLIMX CTEH,

MOTONKA WK Nona.

MNpwn " ux Ha Gonee

Ecnu y Bac ects wbo TOrD, KaK KPervTh AaHHbIR

MIpOAYKT, i a ¥

VIKTIGT!

Din plasmaskarm, LCD-skarm, TV, projektor,
representerar ett ansenligt varde.

Om skruvar medfiljer utrusiningen ar det inte sakert att de passar for materialet i vag-
gen, taket eller golvet!

Byt ut skruvama mot lampliga skruvar om sa krdvs,

Kontakla en expert om du ar osaker pa naget | samband med monteringen av produk-
ten,

eller annan HiFi-

ONEMLI!

Plazma, LCD, TV, Projektér, Projektér Ekrarmimiz veya diger HIF| clhaziniz son derece
degerlidir,

Birllkte verilen vidalar duvar, tavan veya déseme teghizatiniza uygun cimayabilir.
Gerektiginde vidalan uygun olanlarla degistirin.

Bu iiriiniin monta sekiller| ile ligill sorunianmz clmasi halinde bir uzmandan yardim alin.

BERT!

BHEEF, LOD, TV, WER, NENABRAET Ui GEFSEETEOIHE.
WP ENAETEALRAE RERAE,

NEME  WHRTERSBLNDE,

MEHFFRERGENTEREE , WEATLAR.

WARRANTY CARD

MULTIBRACKETS.C@OM

MULTIBRACKETS ™ Limited Warranty

Multibrackets warrants its products to be free of defects in
material and workmanship for the product's Warranty Period.
The Warranty Period commences on the original purchase
date of the product.

All Multibrackets products are covered
by a limited product warranty:

+ FIVE (5) years for metal video monitor mounts; all racks
and non-electrical rack accessories

+ ONE (1) year for all motorized and/or automated products,
plastic speaker mounts; all speaker stands; all furniture; all
wood (MDF) accessories

For warranty claims made during the Warranty Period, MULTI
BRACKETS will replace any defective product part free of charge.
Should a part on your Multibrackets product fail, please create an
RMA case on www.multibrackets.com/support to make a warranty
claim. We will await your documentation and then discuss the
problem with you and once we confrm the product is under war-
ranty, we will ship replacement parts to you. This Limited Warranty
does not cover the costs of removing and replacing defective parts
from your Multibrackets product. So, if your problem requires a
repair technician, you must pay any labor charges.

This Limited Warranty extends only to the original purchaser
of the product and is void if your i
product is modifed in any way, improperly installed, taxed beyond
its stated weight capacity or otherwise misused or abused. All
Multibrackets products are intended for indoor use only and any

outdoor use voids this Limited Warranty. The Limited Warranty for
wall and ceiling mounts is void if the mount is moved from its initial
installation. To the maximum extent permitted by applicable law,
Multibrackets disclaims any other warranties, express or implied,
including warranties of ftness for a particular purpose and war-
ranties of merchantability. Multibrackets will not be liable for any
damages whatsoever arising out of the use or inability to use its
products, even if Multibrackets has been advised of the possibility
of such damages. To the maximum extent perml((ed by applicable
law, disclaims any for incidental or
oonsequentlal damages.

Multibrackets ™ Stockholm Sweden 2014,
www.multibrackets.com

www.multibrackets.com



2PCS 4PCS

1PCS

2PCS

1PCS

M8X60

=/ /=)

M8X25 [ M10 M10X70 M12X60
8PCS |6PCS 6PCS 6PCS 4PCS 4PCS

M10X50
4PCS

M8X25 M6X25 M5X15  M4X15

D

Uiy

4PCS 4PCS 4PCS 4PCS

E F G H |
@ 6mm 5mm 4mm 3mm
M8 | mex20 | M8 Mé M5 = M4 | 47mm  14mm

gspcs | spcs | 8PCS 8PCS 8PCS 8PCS| 1pcs 1pcs | 1PCS  1PCS  1PCS  1PCS

www.multibrackets.com



www.multibrackets.com






Proceed with instruction 3AB C D E F G if you will mount the pillar to wall & floor.

—

Use this instruction if you
wish to mount bottom part
to the wall

=0

Use this instruction if you wish
to mount bottom part to the floor.

www.multibrackets.com



3C

Mount to the concrete wall

Y

70mm

I 12mm

Mount to Floor

-

www.multibrackets.com






SE

www.multibrackets.com




www.multibrackets.com



3G

www.multibrackets.com



Proceed with instructions 4AB C D E F G if you will mount wallpillar to wall

Use this instruction if you
wish to mount bottom part
to the wall

Use this instruction if you

wish to mount bottom part
to the wall

\

www.multibrackets.com



4C

Mount to the concrete wall

J

70mm

12mm

Mount to the concrete wall

70mm

@12mm

mf(@((«««@

.
/
G

www.multibrackets.com






4E

www.multibrackets.com




4F

www.multibrackets.com



4G




Adjusting the screens position

~

Tilt up 5 degree

Tilt down 12 degree +12° —  a

/ "

www.multibrackets.com



